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QUESTION 1

Drag the options on the left to the correct order on the right.

Select and Place:

Correct Answer:
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QUESTION 2

Which one of the following potential issues is eliminated by using split horizon?
A. Joined horizons

B. Packet forwarding loops

C. cisco Express Forwarding load-balancing inconsistency

D. Asymmetric routing throughout the network

Correct Answer: B

QUESTION 3

Refer to the exhibit. Routers A and B are directly connected and running OSPF, but they are unable to form a neighbor
relationship. What is the most likely cause?

Router A relevant configuration:

interface fa0/0
ip address 10.10.1.1 255.255.252.0
ip ospf cost 512 X

router ospf 1 .
network 10.10.1.0 Op.ﬁ 255 area 0
rr\

Router B rele?(al)\t configuration:
interface faQf
ip address/40.10.2.2 255.255.252.0
ip mtu 512"

/

router ospf 10
network 10.10.2.0 0.0.0.255 area?®

A. The routers are not on the same network.

B. The network statements do not match.
C. The process number does not match.

D. The MTU does not match.
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E. The OSPF cost does not match.
F. There is a physical issue with the cable.

Correct Answer: D

QUESTION 4
Refer to the exhibit. Router RTB is performing one-way redistribution from RIP to OSPF.

Which outgoing interface will router RTD choose for packets to the 192.168.0.0/24 network, and why?

router ospf 1
radistribute rip

A. Fa0/1, because OSPF is a link-state routing protocol

B. Fa0/0, because RIP is a distance vector protocol

C. Fa0/0, because RIP has a higher administrative distance
D. Fa0/0, because OSPF has a lower administrative distance
E. Fa0/1, because OSPF has a lower administrative distance
F. Fa0/1, because RIP has a lower administrative distance

Correct Answer: E

QUESTION 5
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If a port configured with STP root guard receives a superior STP BPDU, the port will be put into which state?
A. root-inconsistent state

B. forwarding state

C. blocking state

D. errdisabled state

Correct Answer: A
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